r

=

it

[=]
e

REX DOCS

rbt.ist/rexrdt

WiBot

WiBot is one of REX robots that you can control remotely by using the Bluetooth and Wireless features of the
REX Board.

E Buy REX

rbt.ist/rexgithub

Wireless Technology: This technology enables devices to communicate over the Internet network. By
connecting the REX Board to the same Wi-Fi network as the device we wish to communicate with, we can
effortlessly perform this operation using the code we will write.

N
[ ]

Bluetooth Technology: Devices with Bluetooth technology can communicate with each other within a certain
distance by using this technology. You can easily perform this operation by using the REX Board.

&8/ 02

WI-BOT

SETUP GUIDE

Components of WiBot

REX Main Board

’—< DC Gear Motor 4pcs.

Gear Motor Wheel 4 pcs.

#l M3 Nut 8 pcs.
h—- M3 x 6 mm Screw 4 pcs. - ( Plastic )

M—I M3 x 8 mm Screw 12 pcs.
M—l M3 x 30 mm Screw 8 pcs.

'—I M3 x 6 mm M-F Spacer 4 pcs.

_—I M3 x 25 mm Female Spacer 8 pcs.

03|68

R3 8pcs.

B2

&8| 04

R3 2 pcs.

. L‘R]

20 ———= DC Gear Motor
. ;'

-

Motor cables can be
arranged as seen in
the image.

’—AMB Nuts 2 pcs.

“w S.

TN
~

M3 X 30 mm Screw 2 pcs. J

Complete same steps
for other sides.

05 |[#=%

M3 X 25 mm Female Spacer 4 pcs.

’—Q M3 X 25 mm Female Spacer 4 pcs. I

| l | l 0--0 l '

i i

M3 X 8mm Screw 4 pcs.

&8/ 06

M3 x6 mm M - F Spacer 4 pcs.
( Plastic)

-

__Ii- |
)

\
\
!f—/
&‘ :

[
—-— - T T T
-— - -
II". | — _— X
-
L —

\

M3 x 6 mm Screw 4 pcs.
( Plastic )

REX 8in1 Main Board

07 |#%



MOTOR 4
|

1
1
! MOTOR 2

,7 M3 x 8 mm Screw 4 pcs.
I -
I
I
I
I
I
|

B2

Gear Motor Wheel 4 pcs.

M3 x 25 mm M - F Spacer 4 pcs.

MOTOR 3

|
Assembly is finished and you can MOTOR _I

move on with coding steps.

09 [#=%

&%| 08

Arduino Code

The Circuit Diagram

After assembling the acrylic pieces, you can proceed with circuit installation as shown in the diagram below.

MOTOR 3

Scan the QR code to go to
the whole code and the
necessary libraries.

=) A 7 3 [ A -
= § o L 3 .
Motor A - B Slot| Motor C - D Slot l
MOTOR 2




